H R R o A R 3H 20H WoE % B 444 t
(89352 391 t ] ﬂ [R%E 53t ]
B AWMEESRIES R 2 % N=1 BN ATMEIZRIBRG B 25 %0 ey
| B Ofr: M BiAs)
B TEEM | B AL & 1B B H FEEM | B | & & =z fH
S B i 200 g 75 43 | ADA — —
LA 250 g 108 70 | HEANA 10 kg 1,998
TEoh 200 g 64 32 | WA — —
5 NAZE D 200 g 108 86 | ST 5 10 ke 3, 024 1,188
ERE 8 ke 3, 024 864.| 7 A ML E— = B 270 g 410 194
LwA&< 200 g 81 — || WHDH = B 270 g 388 172
— — — — | EAEDH RE A 270 g 453
N A 10 ke 756 — | TR AT = 9 keg| 16,200 6, 480
FEEEICA U A 10 ke 1,728 1, 080
iE< &N 15 ke 1, 296 648
E AV 10 ke 756 432
L&A 10 ke 2, 160 1, 620
XpH 5 ke 2, 268 1,512
Aoc R 5 ke 1, 836 -
k= k 4 ke 1, 728 —
P 130 g 108 86
EzAED 2 ke 1,404 —
T Lok 10 ke 1, 836 1, 404
TmERE 10 ke 1,620 1,404
ALV 100 ¢ 162 86
LU 100 ¢ 48 32
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i % & & 3H 208 @ fE Kk EMLBEEKE 51 ot

WM AWEIXETEESE B I AL bbb 4 28 ¢ ] [BE 7t ] [#5F 16 t ]
| BOAL M (BUAR)

fif & o) +
i g FEEH# | B | 5 & % E o g FEEM | B | 5§ E Z A
AFE A | R¥EE 1 ke 2, 592 864 | |V TAUD 1 ke 2, 160 1,080
HES A RKIEEE 1 ke 1, 458 1,274 | AN JIVTY z— 1ke 1, 080 432
7Y £ IH lke | 777 216 | #5 = =R 1ke 1, 836 1, 296
WA | [ 1 kg 702 118 | A FOER L 1 ke 1,512 626
{7 = H 1ke 183 86 | FURAY T & 1 ke 4, 320 1,188
ANVAA D 5 W 1 ke 1, 080 756 | BAFY = JbiEE 1K 172 54
ENvF N~ 1kg 1, 350 1, 134
&7 A FOE 1ks 1, 404 540
&5 = w5 1kg 3,024 2,376
INE X & 1ke 2, 700 756
73 e K 1 ke 1,080 583
ks N 1ke 3, 240 259
h Y A BIRE 1 ke 2, 268 324
E7 BEIRS 1 ke 1, 782 918
PS5 5 I 1 ke 1,944 712




